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O Sh&r W= B2 FHl(L=10m) 3,000,000 3,000 0 3,000
O sh&r 9% Hh4+=Z FHl(L=120m) 25,000,000 25,000 0 25,000
O 3h&r &= tj4+=2 FHI(L=150m) 25,000,000 25,000 0 25,000
O sh&r ST Bh+2 FHI(L=120m) 20,000,000 20,000 0 20,000
O 3h&r GHE Bi+2 FHI(L=180m) 25,000,000 25,000 0 25,000
O &t AZ 42 FHI(OHH:15m)
2,500,000 2,500 0 2,500
O & =5 B4+Z FHI(L=15n) 3,500,000 3,500 0 3,500
O B &AL BH42 JHI(14) 3,500,000 3,500 0 3,500
O s 2H &2 JHI(14) 3,500,000 3,500 0 3,500
O ®& X Hh4+2 FHI(L=120m) 25,000,000 25,000 0 25,000
O & B3 B2 FHI(L=120m) 25,000,000 25,000 0 25,000
O && | B4+2 FHI(L=120m) 25,000,000 25,000 0 25,000
O B 3 7Al &2 FHI(L=150m)
20,000,000 20,000 0 20,000
O B4 grot B2 FHI(L=150m) 25,000,000 25,000 0 25,000
O &X X4 B2 FHI(L=100n) 25,000,000 25,000 0 25,000
O SX &= th+2 FHl(L=140m) 25,000,000 25,000 0 25,000
O £X 2 B2 FHI(L=100n) 20,000,000 20,000 0 20,000
O &X =& 42 FHI(L=200n) 32,000,000 32,000 0 32,000
O £X Jbxt Bh4=2 FHI(L=250m) 25,000,000 25,000 0 25,000
O =B @4 42 FHI((L=200m,8=0.6m,H-0.
6n) 30,000,000 30,000 0 30,000
O =% 0IF th+=Z Fbl(L=130n,8=0.6mH=0.6
m) 25,000,000 25,000 0 25,000
O =% Z& th+2 Ful(L=200n,8=0.6m,H=0.6
m) 30,000,000 30,000 0 30,000
O =B B SH+2 Zbl(L=120m,8=0.6m,H=0
6m) 20,000,000 20,000 0 20,000
O =2 WS th+2 Ful(L=20m) 3,500,000 3,500 0 3,500
O =g ZF th+=2 FI(L=50m) 2,800,000 2,800 0 2,800
O =2 22 th+=2 FHI(L=150) 50,000,000 50,000 0 50,000
O =2 Z4 th+=2 FHl(L=150m) 25,000,000 25,000 0 25,000
O =2 S& th+=2 Ful(L=120m) 25,000,000 25,000 0 25,000
O =2 3¢ =2 FHI(L=190n) 25,000,000 25,000 0 25,000
O =& Z& Bh+Z FHI(L=150m) 25,000,000 25,000 0 25,000
O =& 8% SH+2 Fbl(L=100m)
25,000,000 25,000 0 25,000
O =& 012 SHH+2 Zbl(L=200m)
25,000,000 25,000 0 25,000
O =& 4= 42 FHI(L=200m) 25,000,000 25,000 0 25,000

_10_




2N
X ZH -
L= B
el

rag=R=p\ i
SgES+ Y
sEEAE ALY

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2

O A= 2 == Adl(L=150m) 25,000,000 25,000 0 25,000
O A= e tH==2 Hdl(L=20m) 3,500,000 3,500 0 3,500
O A= & Hi==2 FHI 15,000,000 15,000 0 15,000
O A= 0= === Fdl(L=150m) 25,000,000 25,000 0 25,000
O A= &4 =2 Fdl(L=150m) 25,000,000 25,000 0 25,000
O Otab g4k B2 F I (L=10m) 5,000,000 5,000 0 5,000
O Okt &9 B2 A HI(L=300m) 25,000,000 25,000 0 25,000
O Okt =& == Fdl(L=120m) 25,000,000 25,000 0 25,000
O Oh&t =g B2 Zdl(L=100m) 22,000,000 22,000 0 22,000
O g4 ws =2 Fdl(L=6m) 3,000,000 3,000 0 3,000
O Oh&t &4 B2 Fdl(L=120m) 22,000,000 22,000 0 22,000
O &4 89 =2 Fdl(L=12m) 4,800,000 4,800 0 4,800
O &4 0l= =2 Ful(L=140m) 26,000,000 26,000 0 26,000

O & 2 =2 FHl(L=280m)
40,000,000 40,000 0 40,000
O g& 28 =2 Fdl(14) 20,000,000 20,000 0 20,000
O &4 AF =2 Fdl(L=100m) 25,000,000 25,000 0 25,000
O &0l &4t Bi<==2 Al (L=150m) 26,000,000 26,000 0 26,000
O &0l 8 =E His==2 FHI(L=95m) 20,000,000 20,000 0 20,000
O &0l X Bi===2 A HI(L=150m) 25,000,000 25,000 0 25,000

O &0l s=2l =2 FHI(L=140m)
20,000,000 20,000 0 20,000

O ¢ol 2= =2 Fdl((L=150m)
25,000,000 25,000 0 25,000
O 22U =2 ti=2 ZHdl(L=25m) 5,000,000 5,000 0 5,000
O 2UW 21 i+==2 Fdl(L=150m) 25,000,000 25,000 0 25,000

O 22U 4= == FHl((L=140m)
25,000,000 25,000 0 25,000

O 22U g ti=2 Fdl((L=100m)
20,000,000 20,000 0 20,000
O 3t d= =2 Ful(14l) 4,500,000 4,500 0 4,500
O st g =2 Hdl(L=20m) 4,000,000 4,000 0 4,000
O 22U & == Fdl(L=120m) 25,000,000 25,000 0 25,000
O st "el th=2 Hdl(L=30m) 5,000,000 5,000 0 5,000
O 3t ¥W= =2 FHl(L=20m) 5,000,000 5,000 0 5,000
O st¥ st Hi+== Fdl(L=120m) 25,000,000 25,000 0 25,000

O stg X === ZHl((L=320m)
150,000,000 150,000 0 150,000
O stg 44 =2 Adl(L=140m) 35,000,000 35,000 0 35,000
O st¥ 0l= == HHI(L=95m) 15,000,000 15,000 0 15,000
O st& &= =2 Ful(L=100m) 25,000,000 25,000 0 25,000
T M=K E=At 610,500 510,500 100,000
401 AIEHIZ 2 THHI 610,500 510,500 100,000




2N
X ZH -
L= B

el
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ot
He

J
A&

O O ¥
2 02 nx
[olas

00 0
P4 =2

AL

SA- - H2A(3A) - MRANEY - BES Off &t 24 I ZH Hnsz

01 A€ dl 610,500 510,500 100,000
O OhHah SH2M 23 At & & 150,000,000 150,000 50,000 100,000
A782 Sti+=2 ZHIAE 1,495,000 1,195,000 300,000
= 900,000 900,000 0
S 595,000 295,000 300,000
401 AIEHIZ 2 CHYI 1,495,000 1,195,000 300,000
£ 900,000 900,000 0
S 595,000 295,000 300,000
01 A€ dl 1,495,000 1,195,000 300,000

O &&b S48 =2 HHIZAH(14])
20,000,000 20,000 20,000
< 20,000 20,000

O && ZE =2 FHHIZSAH(14])
20,000,000& 20,000 20,000
< 20,000 20,000

O &4k &el =2 HHIZAH(14])
20,000,000 20,000 20,000
S 20,000 20,000

O & & St HH=2 HHIZAH(14])
20,000,000 20,000 20,000
< 20,000 20,000

O &f&h 22 =2 FHHISAH(14])
20,000,000 20,000 20,000
S 20,000 20,000

O stet B Hi+~2 FHH(L4EH)
20,000,000& 20,000 20,000
& 20,000 20,000

O =22 82 42 IuI(YYH)
20,000,000 20,000 20,000
S 20,000 20,000

O &4 80t 55 =2 Ul (HgA)

20,000,000& 20,000 20,000
< 20,000 20,000

O &0l AlE 2 HHl (H8d)
20,000,000& 20,000 20,000
< 20,000 20,000

O 22U Mat =2 HHl (J8d)
20,000,000 20,000 20,000
S 20,000 20,000

O &t g& 2 HHl (48d)
20,000,000& 20,000 20,000
< 20,000 20,000

O &t =8 42 Iy (88H)
20,000,000& 20,000 20,000
< 20,000 20,000

O =% st th=2 FHdl (H&d)
20,000,000& 20,000 20,000
< 20,000 20,000




AN ALY
M sgdE+ N
S SYUSEAL ALY CERED
SN P SA(EN) - MBAY - BES 0l &t o 0| % o HlDE2
O st Eb= Hi+=2 JHl (4EA)
20,000,000& 20,000 20,000
) 20,000 20,000
O =238 8= =2 FUl (4&d)
20,000,000& 20,000 0 20,000
=) 20,000 0 20,000
sHE 334l 1,205,250 1,206,000 AT50
& 829,000 829,000 0
e 376,250 377,000 AT750
SENSSSHY 20,250 21,000 AT50
207 O &l 14,250 15,000 AT50
01 2284 14,250 15,000 AT50
O oazEz 28 14,250,000-21 & 15,000,000 AT750 0 AT750
C2Y == 8,041,873 6,356,792 1,685,081
= 903,000 903,000 0
& 270,000 270,000 0
e 6,868,873 5,183,792 1,685,081
=zt ¥ SHEE=Z =5 6,216,800 4,932,800 1,284,000
= 903,000 903,000 0
e 5,313,800 4,029,800 1,284,000
=& &3 2,204,800 1,524,800 680,000
401 A& HIZ 201 Y| 2,200,000 1,520,000 680,000
01 A& HI 2,195,000 1,515,000 680,000
O ot 2E~UA2 Z& TN
330,000, 000 330,000 0 330,000
O =8 2E-8482 Z2& Iy
150,000,000 150,000 0 150,000
O =& (S8~0eh)EE8HA At 200,000,000 200,000 0 200,000
sHE &2 &5 2,206,000 1,602,000 604,000
401 Al HIZ 201 8] 2,206,000 1,602,000 604,000
01 A& HI 2,201,000 1,597,000 604,000
O 23 0IZA~AHZ S8 DM 2| (L=4.5kn)
315,000,000& * 14l 315,000 0 315,000
O 3d E2-3E2 T2EHIEIA AAEAH
A (L=2.9kn) 134,000,000& * 14! 134,000 0 134,000
O ot st8 S = FHISAH(L=2.72kn)
155,000,000& * 14 155,000 0 155,000
S2ANE 2el 1,171,031 813,528 357,503
T ANEES 512,700 303,200 209,500
401 A& HIZ 201 I 512,700 303,200 209,500
01 A& HI 512,700 303,200 209,500
O && 83 T2572 M 50,000,000 50,000 0 50,000




SN ALSTHD
HM: C20 HHE
cel SRAL 22 CER-ED
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Hns2
O afoh T~ 80N C2EPIA
30,000,000 30,000 0 30,000
OBU M5 E2=7 ZA 65,000,000 65,000 0 65,000
O B4 S50 YADHBA 45,000,000 45,000 0 45,000
O X S8 SE2=2 JuI(L5n) 1,000,000 1,000 0 1,000
O =g a8 252 ZHI(L=15m) 2,500,000 2,500 0 2,500
O ORAF AIY DL S XIBAH(14)
5,000,000 5,000 0 5,000
O Orer &8t S252 Jl(L=25m) 5,000,000 5,000 0 5,000
O & %S =257 Iy 3,000,000 3,000 0 3,000
O g& g2 =252 Il 3,000,000 3,000 0 3,000
SOESR 2K 2 317,831 290,628 27,203
201 YEr2 | 119,034 117,113 1,921
01 At et 47,955 50,479 £2,524
O Bar=2 ZH47,955,000-71 & 50,479,000 ~2,524 0 ~2,524
02 BBl 71,079 66,634 4,445
O gzZes 288 890,000+2CH 1,780 890 890
O 4ZEx R0 1,851%15,5602! Ef 28,802 28,247 555
gEZEe A 6,000,000+ 14} 6,000 3,000 3,000
202 04t 1,172 11,760 588
01 201 bl 1,172 11,760 588
O Glar=2 ZF11,172,000-71F 11,760,000 £588 0 £588
401 Al EHI L 2O 162,075 156,075 6,000
01 Al&HI 162,075 156,075 6,000
O B& BS BAY &1 500,000 500 0 500
O B&F 89 BHALY & X 500,000 500 0 500
O B& BS BHAY &1 500,000 500 0 500
O B4 043t BHALY & X 500,000 500 0 500
O =% A8 YAY #X(4H2) 2,000,000 2,000 0 2,000
O 28 Y&E2 BIAIZ A3 500,000 500 0 500
O =& N 2HAY &X 500,000 500 0 500
O OH &4 BHARY &XI(244) 1,000,000 1,000 0 1,000
405 Xtk S| 22,470 2,600 19,870
01 U SZ S| 22,470 2,600 19,870
O oaEy 22,470,000~ 2,600,000 A130 0 A 130
O S2&® ¥ 248 UYIY(1EEY)
20,000,000 * 1CH 20,000 0 20,000
SOEZR AdEL 252,400 131,600 120,800
401 A EHI L 2O 252,400 131,600 120,800
01 Al&HI 252,400 131,600 120,800




AN ALY
BE: C2Y 25
ool T2 AE 2el (Sl & &)
SN - SAGEA) - MRAY - BES 0l &t o 0| % o Hl D&
O &X 228 A= 2 JHH (L=50m)
30,000,000 * 14! 30,000 0 30,000
O 22U FsE2 SHEEZE Ut ZM(L=2.
Okm) 20,000,000 * 14! 20,000 0 20,000
O 40| EE-MS22 SHEEZE I Z M (L=5.
4km ) 51,000, 0003 * 14! 51,000 0 51,000
O a&b dg ©2=7 FHI(L=20m,8=0.3m,H=0.
m) 4,800,000 4,800 0 4,800
O stat obd S22 537 Al (L=30m)
5,000,000& 5,000 0 5,000
O stat Y S22 57 FHl(L=20m)
4,000,000 4,000 0 4,000
O &4 82 S257 FHI(4HL)
3,000,000& 3,000 0 3,000
O &4 2F T2 FHI(4HD)
3,000,000 3,000 0 3,000
ESEAH 29 78,722 35,144 43,578
ESLEAH 29 78,722 35,144 43,578
201 ¢er24| 17,762 9,224 8,538
01 At2 22l bl 17,762 9,224 8,538
O HazEz 2 88,762,000-21 & 9,224,000 A462 0 AN 462
O 42 NHMAY &3 €HEAM =AY
500,000& 144 E S 7,000 0 7,000
O A+2 MHAY SsSEHFE S|
2 & 4,940,000& 4,940 2,940 2,000
401 Al HIZ 2018 29,640 24,600 5,040
03 Al S THHI 29,640 24,600 5,040
O A+2 TMHAY SsSEH =20
20,0003 =140 S H »18Y 5,040 0 5,040
405 TtobH S 30,000 0 30,000
01 AL ESFH SH 30,000 0 30,000
O GPS =D/ ¢ 30,000, 000 = 1CH 30,000 0 30,000
HY2HAH (AL L) 85,006 89,480 A4 AT4
Jl2ZH (A& M) 85,006 89,480 A4 AT4
Jl2ZH (AL a) 22,990 24,200 A 1,210
201 -4l 19,000 20,000 A1,000
01 AFR 22l 19,000 20,000 A 1,000
O oarzEz 2 & 19,000,000-71 & 20,000,000 A 1,000 0 A 1,000
203 ¥R =&l 3,990 4,200 A 210
04 EA2IYRFLH| 3,990 4,200 A210
O Harz2 2 &3,990,000-21 & 4,200,000 A210 0 A 210
2t (ALdE) 14,022 14,760 AT738




2N

g OH’Z%%%HI(DJQ%*IH )

Sl IR (AL YD) EERED

SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F Hl D2
201 Lt 3,990 4,200 A 210
01 AFR 22l 3,990 4,200 A 210
O oarzEz Z &3,990,000-21& 4,200,000 A210 0 A210
202 44l 10,032 10,560 A 528
01 S0t 10,032 10,560 A 528
O Harzz 2&10,032,000-271 & 10,560,000 A528 0 A 528
Jl2Zdl(Mael) 11,628 12,240 AB12
201 ¢er24l 3,192 3,360 A 168
01 Ar22t2l bl 3,192 3,360 A 168
O oazEz Z2&3,192,000-21 & 3,360,000 A 168 0 A 168
202 044l 8,436 8,880 N444
01 SLHOYI 8,436 8,880 AN444
O oarzz 4 & 8,436,000-7| & 8,880,000 AN444 0 AN444
Jl2dHl(sgolgtxyd 7,752 8,160 A 408
201 LEt2E | 3,192 3,360 A 168
01 At 2teltl 3,192 3,360 A 168
O Harzz 2 &3,192,000-71 & 3,360,000 A 168 0 A 168
202 Oddl 4,560 4,800 A 240
01 = LH 4 Hi 4,560 4,800 A 240
O oazEz 28 4,560,000-2] & 4,800,000 A 240 0 A 240
2Bl (s&EHY) 8,664 9,120 A 456
201 L4 3,192 3,360 A 168
01 AFR2t2lHl 3,192 3,360 A 168
O oazEz 2 &3,192,000-21& 3,360,000 A 168 0 A 168
202 044l 5,472 5,760 A 288
01 S LHOIYI 5,472 5,760 A 288
O Harz2 2 &5,472,000-21 & 5,760,000 A 288 0 A 288
J2ZH(ES) 11,970 12,600 A 630
201 ¢er24l 4,788 5,040 A 252
01 At22t2l bl 4,788 5,040 A 252
O HarzEz 2 &4,788,000-21 85,040,000 A 252 0 A 252
202 o4dl 7,182 7,560 A 378
01 SLHOYI 7,182 7,560 A 378
O oarzEz Z2&7,182,000-21& 7,560,000 A 378 0 A 378
22 (ZAHT/FE) 7,980 8,400 A 420
201 LEt2A | 3,192 3,360 A 168
01 At 2teltl 3,192 3,360 A 168




AN ALY
M HY2IAZH (AL L)
¢elr J23H (AL L) (Sl & &)
SN - SAGEA) - MRAY - BES 0] &k o4 0| % o HDE2
O oarzz 2 &3,192,000-71 & 3,360,000 A 168 0 A 168
202 44l 4,788 5,040 A 252
01 =Ly 0t 4,788 5,040 £252
O HarE2 2 & 4,788,000-71 & 5,040,000 A 252 0 A 252
Hees(He88m) 187,737 186,966 771
SHEXNE 771 0 771
=EHlgtet= 771 0 771
802 Bret 3 JIEt 771 0 771
02 Al - EHIEXZSEHEZ 771 0 771
O 20128 H=0MES2s Btets
771,000 771 0 771




